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Learning Target

I can solve real world problems

containing rational numbers.
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Problem Solving with Fractions
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A cooler contamlng@allons of punch is being poured int allon containers. How ma i ill it take to
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A pitcher containingallons of punch is being poured mtc@gallon containers. How many containers will it take to
hold all the punch? _ -
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A recipe callsfoups of brown sugar. Ifl agmakm &E he (f ow much brown sugar should 1 use?
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A recipe callsfoups of brown sugar. If | am only makin of jthe recipe, how much brown sugar should | use?
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A bregd De callsfm@ups of wheat flour an cups of white flour. How much flour does the recipe call for
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A bread recipe callsfor@ups of wheat flour anups of white flour. How much flour does the recipe call for _—
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More Practice
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5. The width of o rechmgle 53 % Mches, aod e length 5% % Mches. Whok T #he areq of Hhe recimle? /8
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